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12X 3423 X2=82
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9
9-8+(7-6)+(5-
51

. 9:40 A M.
. 8+3=11

5+2 = 7 (width)

117 =7 82

. Ix50=25

25450 =
What is the width?
8§-2-2=4

What is the length?
10+4-6=38
Thus, the area is
8x4 =2 in’,
12,059

12+3 =4

4x5 =$20.00

Bill: 300x2 = 600
Difference: 600 - 510

L 213 =7

21-7=[14
3X12 + 14 = 36 + 14
30-6=24
24=16+8

MATP 2060 (TY)

Issuc 2

Answer _Vey

H+(3-2+1=5

. Kim: 163 + 347 = 510

S

=50 (min)

16 + 3 + 3 =22 yrs old

.9
.8
. 20x3-12-15=[33

=12 =17/24
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26.

1
)
. 45527 = 21027 = 23

5:10 A.M. - 9:40 P.M.

= 5:10 - 9:40 + 12:00 (next day)
=17:10 - 9:40

=7:30

=7 hr & 30 min

3_9 12

7 21 28

9428 =

. 93
. % =5/8
. 72000+6 + 600+2 + 900+20

= 12000+300+45

- 2543

. 36+4=9

9+3 = 3 in (each side of a square)

3x3x5 =

.9
. 13 -5 = 8 (length)

8 -2-2 =4 (width)
8X4 = 32 m? (area)
150

. 30% - 12% = 18" = 18 1/8 pounds
. 24x60 = 1440 min

1440x7 = 10080 min

. 60+4 =15

15%3 = [45]

. 14:15 - 8:55 = 5:20

(5 hr 20 min)+4 =1 hr & 30 min

. 90+73+80 = 243

243:3 =

. 85%4 =340

340 - 243 = 7]

. 16/81
1
. 0.5

.005

. 3000

.6

. X=4
1

/4
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53.
54.
55.
56.
57.

58.

59.

60.

61.
62.
63.
64.
65.
66.
67.
68.
69.

70.

71.

MATP 200
A
H(-6, -6)
600x0.6 = $360
2,400,000+3,000,000 = $0.80
20% :80% =1:4=25:100
Saved: $25
The area = 3x12x16
=96 = 3xhx20
h=9.6cm
Let X be the number of students.
3X+5=4x-21
X =26
B
24 4+ 16 = 40
2V,
90
0.53%0.6%> = (0.5%0.6)3 = 0.33 = 0.027

20

12,16, X) = 4(3, 4, 5), X = 20, the diameter is 20.
122

The circle has an area of 10%n = 314, the area of
the shaded region is

314 - 12X16

=314 -192

=122

1yard =3 ft

1 sq. yard = 9 sq. ft

18%10 = 180 sq. ft = 20 sq. yard

15%20 = $300
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72

73.

74.

75.

76.

77.

78.
79.
80.

Issue 2
. area =120

17
15

(72+3)%0.35
= 24x0.35
=12x0.7

= $8.40

It needs 5 pieces of casserole
Ans = 10 eggs & 15 ounces of butter

What is the width of the outer rectangle?

20 +2x5 =30

What is the length of inner rectangle?

40 -2x5=30

The area of the path:

40%30 - 30x20 = 1200 - 600 = 600 ft>

1000 + 200%8 = 2600

2600 - 2000)+-2000 = 30%

What part of the radio sets remains unsold after
two-day sale? Itis 1 - 73 - ¥2X% = V4. Therefore, %
is sold, twice as many as the remaining ones. The
number of being sold is therefore

50%2 =100

9x10x10x5 = 4500

Va(144m) = 36m

6Xx40 = 240 (in)

1 yard = 3 ft = 36 in

6X%36 = 216

7X36 = 252

Ans = 7 rolls (enough)
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